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[STRAIGHT OBJECTIVE TYPE] [3x3=9]

Q.1 Theangles a and 3 are such that tan o = m+ 2 and tan f = m where m is a constant.
If sec?o.— sec?p = 16 then thevalue of cot(o.— B) isequal to

(A)2 (B)4 (C)6 (D)8
Q.2 InthegivenfigureABGH, BCFG and CDEF areall squares i G P E
with the samesidelength. If o« = ZAEH and § = ZAFH then o]
(o + B) equals ]
(A) /6 (B) /4 N S
(C) /3 (D) /2
ogy 5 1
Q3 35%° + ——=——— dmyplifiesto
\ —10gy, (0.2)
(A) 1 (B) V2 € 2 (D) 8
[REASONING TYPE] [2%3=06]

20
1
Q4 Saement-1. If N= (aj then N contains 7 digitsbeforedecimal.

Statement-2:  Characteristic of thelogarithm of N tothebase 10is7.

(A) Statement-1 istrue, statement-2 istrue and statement-2 is correct explanation for statement-1.
(B) Statement-1 istrue, statement-2 istrueand statement-2isNOT thecorrect explanation for statement-1.
(C) Statement-1istrue, statement-2isfalse.

(D) Statement-1isfase, statement-2istrue.

[Use: log,,2=0.3010 ]

e
N

Q.5 Satement-1:. If a>p>1,then isgreater than 1.

log, b
Satement-2: log b= ,ifO<a,b,c=1
log. c

a
(A) Statement-1istrue, statement-2 istrueand statement-2 is correct explanation for Satement-1.
(B) Statement-1istrue, satement-2 istrueand statement-2isNOT the correct explanation for Satement-1.
(C) Statement-1istrue, statement-2isfalse.
(D) Statement-1isfalse, statement-2istrue.
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Q.6

Q.7

Q.8

[MATCH THE COLUMN]
Column-l
(A)  Whentherepeatingdecimal 0.363636............. iswrittenasarational
fractioninthesmplest form, thesum of thenumerator and denominator is

(B)  Givenpositiveinteger p, gandrwithp=39-2"and 100 < p < 1000.
Thedifference between maximumand minimumvaluesof (q+r),is

(C)  Iflogga+loggh=(logga)(loggh) andlog b= 3, thenthevalueof ‘dis
(D) LeteN=(2+1)(22+1)(2*+1)........ (2%2+1) + 1 then log,,N equals

[SUBJECTIVE]

[3+3+3+3=12]

Column-I|
P 4
Q 8
R) 15
(S 16

If N=antilog, log,antilog Ne (log, 81))), then log;N liesbetween two successiveintegers aand

b. Find (a+ b).

Let a=(log,81) (10ggs4,625) (10g,,5216) (109,,9,2401)

b denotes the sum of the roots of the equation x'°92% = (2x )92

[4]

and cdenotesthe sum of all natural solution of theequation ‘ X+1‘ + ‘ X—4 ‘ =7.

Findthevalueof (a+b)-c.

[6]
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